Unit 4 | Features of Functions

(Bx—2)—(8—x) (2x%* —9) + (6x% — 5x + 10)

4.4 Operations of Functions

Simplify the operations of polynomials.

Operations of Functions

| need to figure out how to interpret the graph that
Dr. Smith sent me this morning. He mentioned that the
graph determines the number of patients that he will be
seeing tomorrow.

11 o f(2)=?
10 o f(4) =?
] o f(8) =

2 7 o f(h)=2,h=?

g o o f(h) =5, h=

s o f(h)=9,h=?
: r o What is the equation of the blue line?
2 o What is the equation of the green line?
! o What is the equation of the red line?

Time (Hours)
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e =
f(-6)=? f(n)=-1, n=?
f(1)=? f(n)=-3, n=?
f(6)=? f(n)=-5, n=?

What is the equation of the blue line?

What is the equation of the red line?

What is the equation of the green line?
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Adding and Subtracting Functions

Graph the functions.

f(x)=2x—4 and gx)=-5x+1

Solve the following operations.

o f(x)+g(x) 6 5 -4 3 -2 - 1 2 3 4 5 &6

o f(x)—g)

o 3g(x) —2f(x)

Graph: f(x) + g(x)

Combining

Add or subtract like terms only. Like terms have the same variables with

Monomials The same exponents. Ex.3x2 +5x —x2+1=2x2+5x+1

Perform the operations of the following functions.

f(x) =5x>—=3x+1 and g(x) =7x =5

fx)+gXx) fOx)+f(x)

g(x) + g(x) g(x) = f(x)
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Pick the correct answer of the operations in the shapes below.

f(x)=8—x? and g(x) =6x?>+5x—3 ]

—7x%—5x+ 11 5x% +5x + 11 5x2+5x+5

5x% 4+ 5x —11 ‘ 16 — 2x? 12x%2 +10x — 6

IR

\ / | pick \

| pick

as the sum of as the difference of

f(x) and g(x) f(x) and g(x)

- NG J

4 N . )

| pick

as the sum of as the sum of

f(x) and f(x) g(x) and g(x)

- AN J
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What does -4 mean in the notation f(—4)?

Evaluate the following functions.

f(x) =5x>—=3x+1 and g(x) =7x -5

f(=3)

g(=3)

f()+g9(-2) g4) — £(0)

5f(=1) +2g4(6)

6f(2) —3f(4)

—4f(0) + 10g(=1)

6f(=2) = 3f(1)
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Function Evaluation Maze

Evaluate the following functions.
Connect the shapes by drawing a line that passes through the answer from START shape.

Given: f(x) = 3x% —2x + 5, g(x)=4—-7x, and h(x) = —x? + 3x

4 N\ 4 N\
Start
£(=1) + h(0)

9(3) —h(=2) 6 f(0) —4g(-1)

-
4
- J - J
1/2 o 8
I 4
End

61 Ask your teacher for an
extra credit.

o ) o )

5 2g9(1) —3g9(-2)

2h3) + f(=D)
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End-of-Course Prep
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